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recall FTCG.

WARNING : unlike the case for cyclic groups, in general ,

the converse of Lagrange's thin is false.

g.
even permutations of {1,2 , 3,4}

EI IAy l = but Ay has no subgroup of order 6 .

Why ? Note : Ay has elements of order 3.
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Gps Hs Aa, and IHI = 6. Then (Au : HT "

so must be redundant for any at Ay .

Sps lat =3. Then it must be the case that alt -- It
.
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all = So alt-- H .
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if alt -- H

,
we're done b/c this is what we want.

Conclusion : all 8 elts of order 3 are in H
,
which has order 6. #
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